South East Asian J. Math. & Math. Sc. Vol.6 No.1(2007), pp.89–94

## ON LAMBERT SERIES AND CONTINUED FRACTIONS

### Satya Prakash Singh

Department of Mathematics T.D.P.G. College, Jaunpur-222002, India

(Received: March 02, 2006)

**Abstract:** In this paper, an attempt has been made to establish certain results involving Lambert series and continued fractions.

**Keywords and Phrases:** Lambert series, continued fractions, bilateral series, summation

2000 AMS Subject Classification: 33A15

#### 1. Introduction

It is now customary to define the basic hypergeometric series by

$${}_{2}\Phi_{1}[a,b;c;q;z] = {}_{2}\Phi_{1}\left[\begin{array}{cc} a,b & ;q;z \\ c \end{array}\right] = \sum_{n=0}^{\infty} \frac{[a;q]_{n} [b;q]_{n} z^{n}}{[c;q]_{n} [q;q]_{n}}, \qquad (1.1)$$

where

$$[a;q] = \begin{cases} 1, & n = 0, \\ (1-a)(1-aq)\dots(1-aq^{n-1}), & n = 1,2,3,\dots \end{cases}$$

is the q-shifted factorial and it is assummed that  $c \neq q^{-m}$  for  $m = 0, 1, 2, \cdots$ . Also, |q| < 1 and |z| < 1 for the convergence of the series (1.1).

The generalized bilateral basic hypergeometric series is defined by

$${}_{r}\Psi_{r}\left[\begin{array}{ccc} a_{1}, a_{2}, \cdots, a_{r} & ; q; \ z \\ b_{1}, b_{2}, \cdots, b_{r} & ; \end{array}\right] = \sum_{n=-\infty}^{\infty} \frac{[a_{1}, a_{2}, \dots, a_{r}; q]_{n} z^{n}}{[b_{1}, b_{2}, \dots, b_{r}; q]_{n}}$$
(1.2)

where  $\left| \frac{b_1, b_2, \dots, b_r}{a_1, a_2, \dots, a_r} \right| < |z| < 1$  for the convergence of (1.2) and  $[a_1, a_2, a_3, \dots a_r; q]_n = [a_1; q]_n [a_2; q]_n \dots [a_r; q]_n$ .

Also,

$$[a;q]_{-n} = \frac{(-)^n q^{n(n+1)/2}}{a^n [q/a;q]_n} \text{ and } [a;q]_{\infty} = \prod_{r=0}^{\infty} (1 - aq^r).$$

Other notations appearing in this paper have their usual meanings. Bailey's sum for a well-poised  ${}_{3}\Psi_{3}$  is:

$${}_{3}\Psi_{3}\left[\begin{array}{c}b\;,\;c\;,\;d\;\;;\;q;\;q/bcd\\q/b,\;q/c,\;q/d\end{array};\;q;\;q/bcd\right]\;=\;\sum_{n=-\infty}^{\infty}\frac{[b,c,d;q]_{n}(q/bcd)^{n}}{[q/b,q/c,q/d\;;q]_{n}}$$

$$=\;\frac{[q,q/bc,q/bd,q/cd;q]_{\infty}}{[q/b,q/c,q/d,q/bcd\;;q]_{\infty}}.\tag{1.3}$$

$$[3;\;\mathrm{App}\;(\mathrm{II})(\mathrm{II}.31)]$$

Taking c = 1/b in (1.3) we have

$$\sum_{n=-\infty}^{\infty} \frac{[d;q]_n (q/d)^n}{[q/d;q]_n (1-bq^n)(1-q^n/b)} = \frac{[q;q]_{\infty}^2 [q/bd,bq/d;q]_{\infty}}{\left(1-\frac{1}{b}\right) [q/b,b,q/d,q/d;q]_{\infty}}.$$
 (1.4)

As  $d \to \infty$ , (1.4) yields:

$$\sum_{n=-\infty}^{\infty} \frac{(-)^n q^{n(n+1)/2}}{(1-bq^n)(1-q^n/b)} = \frac{[q;q]_{\infty}^2}{\left(1-\frac{1}{b}\right)[b,q/b;q]_{\infty}}.$$
 (1.5)

Replacing q by  $q^k$ , and then setting  $b=q^i$  and  $d=q^i$  in (1.4) we have

$$\sum_{n=-\infty}^{\infty} \frac{[q^j; q^k]_n q^{n(k-j)}}{[q^{k-j}; q^k]_n (1 - q^{kn+j})(1 - q^{kn-i})} = \frac{[q^k; q^k]_{\infty}^2 [q^{k-i-j}, q^{k+i-j}; q^k]_{\infty}}{(1 - q^{-i})[q^i, q^{k-i}, q^{k-j}, q^{k-j}; q^k]_{\infty}},$$
(1.6)

where  $i, j \neq 0 \pmod{k}$ .

For j = i, (1.6) yields

$$\sum_{n=-\infty}^{\infty} \frac{[q^i; q^k]_n q^{n(k-i)}}{[q^{k-i}; q^k]_n (1 - q^{kn-i}) (1 - q^{kn-i})} = \frac{[q^k; q^k]_{\infty}^3 [q^{k-2i}; q^k]_{\infty}}{(1 - q^{-i}) [q^i, q^{k-i}, q^{k-i}, q^{k-i}; q^k]_{\infty}}.$$
(1.7)

We shall make use of (1.5),(1.6),(1.7) and following known results in our analysis. Denis [2] has also established similar results involving Lambert series and continued fractions.

$$\frac{[q;q^2]_{\infty}}{[q^2;q^4]_{\infty}} = \frac{1}{1+} \frac{q}{1+} \frac{q+q^2}{1+} \frac{q^3}{1+} \frac{q^2+q^4}{1+} \frac{q^5}{1+} \frac{q^3+q^6}{1+\dots}.$$
(1.8)

$$\frac{[q^3; q^4]_{\infty}}{[q; q^4]_{\infty}} = \frac{1}{1 - \frac{q}{1 + q^2 - \frac{q^3}{1 + q^4 - \frac{q^5}{1 + q^6 - \dots}}}}{1 + q^6 - \dots}.$$
[1; (7.1.2) p.179]

$$\frac{[q^2; q^3]_{\infty}}{[q; q^3]_{\infty}} = \frac{1}{1 - \frac{q}{1 + q - \frac{q^3}{1 + q^2 - \frac{q^5}{1 + q^3}} \frac{q^7}{1 + q^4 - \dots}}.$$
 (1.10)

[1; (7.1.1) p.179]

$$\frac{[q,q^5;q^6]_{\infty}}{[q^3;q^6]_{\infty}^2} = \frac{1}{1+} \frac{q+q^2}{1+} \frac{q^2+q^4}{1+} \frac{q^3+q^6}{1+\dots}.$$
 (1.11)

[1; (6.2.37) p.154]

$$\frac{[q, q^7; q^8]_{\infty}}{[q^3, q^5; q^8]_{\infty}} = \frac{1}{1+} \frac{q+q^2}{1+} \frac{q^4}{1+} \frac{q^3+q^6}{1+\dots}.$$
 (1.12)

[1; (6.2.38) p.154]

$$\frac{[q;q^5]_{\infty} [q^4;q^5]_{\infty}}{[q^2;q^5]_{\infty} [q^3;q^5]_{\infty}} = \frac{1}{1+} \frac{q}{1+} \frac{q^2}{1+} \frac{q^3}{1+\dots}.$$
 (1.13)

[1; (1.1.1) and (1.1.2) p.9]

## 2. Main Results

(i) Replacing q by  $q^2$  and then setting b = q in (1.5) we get:

$$\sum_{n=-\infty}^{\infty} (-)^n \frac{q^{n(n+1)}}{(1-q^{2n+1})(1-q^{2n-1})} = \frac{[q^2; q^2]_{\infty}^2}{(1-q^{-1})[q; q^2]_{\infty}^2}.$$
 (2.1)

Again, replacing q by  $q^4$  and then taking  $b=q^2$  in (1.5) we find:

$$\sum_{n=-\infty}^{\infty} (-)^n \frac{q^{2n(n+1)}}{(1-q^{4n+2})(1-q^{4n-2})} = \frac{[q^4; q^4]_{\infty}^2}{(1-q^{-2})[q^2; q^4]_{\infty}^2}.$$
 (2.2)

Dividing (2.2) by (2.1) and using (1.8) we get:

$$\frac{\sum_{n=-\infty}^{\infty} (-)^n \frac{q^{2n(n+1)}}{(1-q^{4n+2})(1-q^{4n-2})}}{\sum_{n=-\infty}^{\infty} (-)^n \frac{q^{n(n+1)}}{(1-q^{2n+1})(1-q^{2n-1})}} = \frac{q[-q^2; q^2]_{\infty}^2}{(1+q)} \left\{ \frac{[q; q^2]_{\infty}^2}{[q^2; q^4]_{\infty}^2} \right\}$$

$$= \frac{q[-q^2;q^2]_{\infty}^2}{(1+q)} \left\{ \frac{1}{1+} \frac{q}{1+} \frac{q+q^2}{1+} \frac{q^3}{1+} \frac{q^2+q^4}{1+} \frac{q^5}{1+} \frac{q^3+q^6}{1+\dots} \right\}^2.$$
 (2.3)

(ii) Again, taking k = 4 and i = 1 in (1.7) we find:

$$\sum_{n=-\infty}^{\infty} \frac{[q;q^4]_n \ q^{3n}}{[q^3;q^4]_n (1-q^{4n+1})(1-q^{4n-1})} = \frac{[q^4;q^4]_{\infty}^3 [q^2;q^4]_{\infty}}{(1-q^{-1})[q,q^4]_{\infty}[q^3;q^4]_{\infty}^3}.$$
 (2.4)

Again, taking k = 4 and i = 3 in (1.7) we find:

$$\sum_{n=-\infty}^{\infty} \frac{[q^3; q^4]_n \ q^n}{[q; q^4]_n (1 - q^{4n+3}) (1 - q^{4n-3})} = \frac{[q^4; q^4]_{\infty}^3 (1 - q^{-2}) [q^2; q^4]_{\infty}}{(1 - q^{-3}) [q^3, q^4]_{\infty} [q; q^4]_{\infty}^3}. \tag{2.5}$$

Dividing (2.5) by (2.4) and using (1.9) we get:

$$\frac{\sum_{n=-\infty}^{\infty} \frac{[q^3; q^4]_n \ q^n}{[q; q^4]_n (1 - q^{4n+3})(1 - q^{4n-3})}}{\sum_{n=-\infty}^{\infty} \frac{[q; q^4]_n \ q^{3n}}{[q^3; q^4]_n (1 - q^{4n+1})(1 - q^{4n-1})}} = -\frac{(1 - q)(1 - q^2)[q^3; q^4]_{\infty}^2}{(1 - q)^3 \ [q; q^4]_{\infty}^2}$$

$$= -\frac{(1 - q)(1 - q^2)}{(1 - q^3)} \left\{ \frac{1}{1 - q^2} \frac{q}{1 + q^2 - q^2} \frac{q^3}{1 + q^4 - q^4} \frac{q^5}{1 + q^6 - \dots} \right\}^2. \quad (2.6)$$

(iii) Taking k = 3 and i = 2 in (1.7) we get:

$$\sum_{n=-\infty}^{\infty} \frac{[q^2; q^3]_n \ q^n}{[q; q^3]_n (1 - q^{3n+2}) (1 - q^{3n-2})} = \frac{q[q^3; q^3]_{\infty}^3}{(1+q)[q; q^3]_{\infty}^3}.$$
 (2.7)

Again, taking k = 3 and i = 1 in (1.7) we get:

$$\sum_{n=-\infty}^{\infty} \frac{[q;q^3]_n \ q^{2n}}{[q^2;q^3]_n \ (1-q^{3n+1})(1-q^{3n-1})} = \frac{[q^3;q^3]_{\infty}^3}{(1-q^{-1})[q^2;q^3]_{\infty}^3}.$$
 (2.8)

Dividing (2.7) by (2.8) and using (1.10) we get:

$$\frac{\sum_{n=-\infty}^{\infty} \frac{[q^2; q^3]_n \ q^n}{[q; q^3]_n \ (1 - q^{3n-2})(1 - q^{4n-2})}}{\sum_{n=-\infty}^{\infty} \frac{[q; q^3]_n \ (1 - q^{3n-2})(1 - q^{4n-2})}{[q^2; q^3]_n \ (1 - q^{3n+1})(1 - q^{3n-1})}} = \frac{(1 - q)^{-1} \ q[q^2; q^3]_{\infty}^3}{(1 + q) \ [q; q^3]_{\infty}^3}$$

$$= -\frac{(1 - q)}{(1 + q)} \left\{ \frac{1}{1 - q} \frac{q}{1 + q} \frac{q^3}{1 + q^2} \frac{q^5}{1 + q^3} \frac{q^7}{1 + q^4 - \dots} \right\}^2. \tag{2.9}$$

(iv) Replacing q by  $q^6$  and then setting  $b = q^3$  in (1.5) we get:

$$\sum_{n=-\infty}^{\infty} \frac{(-)^n q^{3n(n+1)}}{(1-q^{6n+3})(1-q^{6n-3})} = \frac{[q^6; q^6]_{\infty}^2}{(1-q^{-3})[q^3; q^6]_{\infty}^2}.$$
 (2.10)

Again, replacing q by  $q^6$  and then taking b=q in (1.5) we have:

$$\sum_{n=-\infty}^{\infty} \frac{(-)^n q^{3n(n+1)}}{(1-q^{6n+1})(1-q^{6n-1})} = \frac{[q^6; q^6]_{\infty}^2}{(1-q^{-1})[q, q^5; q^6]_{\infty}}.$$
 (2.11)

Dividing (2.10) by (2.11) and using (1.11) we get:

$$\frac{\sum_{n=-\infty}^{\infty} \frac{(-)^n q^{3n(n+1)}}{(1-q^{6n+3})(1-q^{6n-3})}}{\sum_{n=-\infty}^{\infty} \frac{(-)^n q^{3n(n+1)}}{(1-q^{6n+1})(1-q^{6n-1})}} = \frac{q^2}{(1+q+q^2)} \frac{[q,q^5;q^6]_{\infty}}{[q^3;q^6]_{\infty}^2}$$

$$= \frac{q^2}{(1+q+q^2)} \left\{ \frac{1}{1+} \frac{q+q^2}{1+} \frac{q^2+q^4}{1+} \frac{q^3+q^6}{1+\dots} \right\}. \tag{2.12}$$

(v) Replacing q by  $q^8$  and then setting b=q in (1.5) we get:

$$\sum_{n=-\infty}^{\infty} \frac{(-)^n q^{4n(n+1)}}{(1-q^{8n+1})(1-q^{8n-1})} = \frac{[q^8; q^8]_{\infty}^2}{(1-q^{-1})[q, q^7; q^8]_{\infty}}.$$
 (2.13)

Again, replacing q by  $q^8$  and then setting  $b=q^3$  in (1.5) we have:

$$\sum_{n=-\infty}^{\infty} \frac{(-)^n q^{4n(n+1)}}{(1-q^{8n+3})(1-q^{8n-3})} = \frac{[q^8; q^8]_{\infty}^2}{(1-q^{-3})[q^3, q^5; q^8]_{\infty}}.$$
 (2.14)

Dividing (2.14) by (2.13) and using (1.12) we get:

$$\frac{\sum_{n=-\infty}^{\infty} \frac{(-)^n q^{4n(n+1)}}{(1-q^{8n+3})(1-q^{8n-3})}}{\sum_{n=-\infty}^{\infty} \frac{(-)^n q^{4n(n+1)}}{(1-q^{8n+1})(1-q^{8n-1})}} = \frac{q^2}{(1+q+q^2)} \frac{[q,q^7;q^8]_{\infty}}{[q^3,q^5;q^8]_{\infty}}$$

$$= \frac{q^2}{(1+q+q^2)} \left\{ \frac{1}{1+} \frac{q+q^2}{1+} \frac{q^4}{1+} \frac{q^3+q^6}{1+\dots} \right\}. \tag{2.15}$$

(vi) Lastly, replacing q by  $q^5$  and then taking b = q in (1.5) we get:

$$\sum_{n=-\infty}^{\infty} \frac{(-)^n q^{5n(n+1)/2}}{(1-q^{5n+1})(1-q^{5n-1})} = \frac{[q^5; q^5]_{\infty}^2}{(1-q^{-1})[q, q^4; q^5]_{\infty}}.$$
 (2.16)

Again, replacing q by  $q^5$  and then setting  $b=q^2$  in (1.5) we get:

$$\sum_{n=-\infty}^{\infty} \frac{(-)^n q^{5n(n+1)/2}}{(1-q^{5n+2})(1-q^{5n-2})} = \frac{[q^5; q^5]_{\infty}^2}{(1-q^{-2})[q^2, q^3; q^5]_{\infty}}.$$
 (2.17)

Dividing (2.17) by (2.16) and using (1.13) we obtain:

$$\frac{\sum_{n=-\infty}^{\infty} \frac{(-)^n q^{5n(n+1)/2}}{(1-q^{5n+2})(1-q^{5n-2})}}{\sum_{n=-\infty}^{\infty} \frac{(-)^n q^{5n(n+1)/2}}{(1-q^{5n+1})(1-q^{5n-1})}} = \frac{q}{1+q} \frac{[q, q^4; q^5]_{\infty}}{[q^2, q^3; q^5]_{\infty}}$$

$$= \left(\frac{q}{1+q}\right) \left\{\frac{1}{1+} \frac{q}{1+} \frac{q^2}{1+} \frac{q^3}{1+\dots}\right\}.$$
(2.18)

# References

- [1] Andrews, G.E. and Berndt, B.C., *Ramanujan's Lost Notebook*, (Part I), Springer-Verlag, New York, 2005.
- [2] Denis, R.Y., On certain q-series and continued fraction identities, Math. Stud. **53**(1985), 243–248.
- [3] Gasper, G. and Rahman, M., *Basic Hypergeometric Series*, University Press, 1991.